Subject: Plot problem
Posted by Andreas Ernst on Tue, 29 Jun 2004 11:02:25 GMT

View Forum Message <> Reply to Message

Hi:

| am trying to plot an array, which contains values of
angular momentum against another array, which contains the
time ranging from O to 1000.
The problem is, that the curve | obtain is discontinuous
and intermitted at some points. So the line goes from
t=0 to t=50, then there is nothing between t=50 and t=100,
and at t=100, the line starts again.
| am using psym=-1 as an option of PLOT (or OPLOT), which
should connect all the data points.
Why is this not the case?

Thanks in advance. Andreas
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